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20122013 

12 

 تبار الفصل الثاني  في مادة العلوم الفیزیائیةخإ

 

    

         NaOH  4g  

                     =40g/mol    M(NaOH)       NA=6,02.1023         

1  
2  
3   V (s)C  

5ml (s)45ml
(s’)C’=0.02 mol/l 

  C


(s)  
  (s) 
(s)

                                                                                                                                                    
                                                                                                            

                                                                                                                                                     
                                                                                                                             

   
500ml (s)(HCl)682.5g  m= 

1    
2 182.5g m’= 

   
  C(s) 
   (s) 

3 (s).  
  (s)(s1)

C1=0.4mol/lV1=200ml 
   
  (s1) 
   

 
VM=24L/mol      ,    M(HCL)=36.5g/mol          

      1000 /eau g L  

06   

08   
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 

 

    V = 200 m/sB10 Km   
  Mt= 45s 

I M  
1 ( OX )( OY ) 
2  
3  

II  
1  
2  

3 . 

06 
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